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A 2ol
M 2stMge NkEt
oHels AIRIOI 2SS F= AlRNIST 29 (choy: @2
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
230l 45,318,459 42,992,956 2,325,503
Jl 3,110,320
== 1,368,955
Al 34,839, 184
H 6,000,000
EetAIESl &5t 25,549,488 27,880,785 N2,331,297
7l 3,110,320
= 1,349,455
Al 21,089,713
AI2IOIH Z2SE = AlElsY 29 9,965,069 9,738,376 226,693
golstt 29 9,965,069 9,738,376 226,693
101 21AH| 25,792 88,339 N62,547
04 JIZtN2Z2XNSE+ 25,792 88,339 N62,547
O¢ =3 =H| JI2HHZ 2 21244| 21,666
—Sdd 10,0302 «6 & +BA| 2++353] 16,851
—SEH 10,0302 *4Z+BA| 2tx153] 4,815
Od=3| &8l JIZtHZ2Z2 A dees 4,126
s 1,910 62 +BA| 2t+352] 3,209
—SEH 1,910 x4 +BA| 2+ 153] 917
301 EtE NS 9,939,277 9,630,037 309,240
Ristd - 2SFS2EYE 9,939,277 9,630,037 309,240
Os=Fzl 2d= 1,000,000 +7& 7,000
ORAREdEa= 12,000,000 90tk 10,800
OXSANEZ & E=xH 8,100
—Sdd 900,000 900
—SEH 7,200,000 7,200
OSIItHOII 7,000
—Sdd 3,500,000& 3,500
—SEH 3,500,000& 3,500
Oe|2Etl 6,000
—Sdd 4,000,000& 4,000
—g3ye 2,000,000& 2,000
o2l & 23 #=clbl 10,000,000& 10,000
OLl0t: & 222t 2] 9,130
-S4 3,685,000 3,685
—SEH 5,445,000& 5,445
OSUXIZtI 40,000
-2 20,000,000& *13] 20,000
—SEE 20,000,000 *13] 20,000
O2bet & FA&E A3 27,000
—23d 13,500,000& 12 13,500
-t 13,500,000& *13] 13,500
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2A: 2o
M ZAIES] N&S
chel: AIZIOIH 2SS FE Al = (crel:xie
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Og=3 20Ha= 13,500
—2xE 150,000 *3H 253 11,250
—SEH 150,000 1H*153] 2,250
Oo%:2 9 HEAZ 43,200
—2&d 22,500,000& 22,500
—SEH 20,700,000 20,700
O399 NEHZ 5,000
—2dE 3,500,000& 3,500
—gat 1,500,000& 1,500
(OFLE-DNESI=S 48,500
S %.500
S= 8,000,000& 1 8,000
e 5,000,000+ 5,000
B= 4,000,000& x3¥ 12,000
c2 2,000,0002 45 10,000
= 1,500,000 *1H 1,500
—BHEICH 12,000
= 5,000,000& 1 5,000
S= 3,000,000&*1H 3,000
A= 2,000,000 *1H 2,000
2 1,000,000+ 2,000
O&elAE gHE 87,000
—2EY 61,000
2 4,000,000 +4% 16,000
= 3,000,000& =12 36,000
= 1,500,000 6% 9,000
—ghACH 26,000
S= 3,000,000&*1H 3,000
A2 2,000,0002+1024 20,000
.82 1,500, 000142 3.000
OH=HH 8= 32,000
—2&g 10,000,000 & 204 20,000
—sEo 6,000,000 21+20} 12,000
OAAAFR 87,000
—=xg 58,600
orE 1,500,000& *1E*13] 1,500
M= 450,000& x1H 102 4,500
Hi24=4 400,000 x 1 +103] 4,000
oA 300,000 x6H x273] 48,600
—SHACH 28,400
=2t 500,000& * 1 *43] 2,000
BHE 400,000 x7 G 33| 8,400
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2A: 20l
S ZotAtRe D&t
2 AR 22 == Al 29 CEEREE
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
- BHHR 300,000& x6H * 103 18,000
OXAX = HsY 7,250
—SdE 290,0002 3 +5& 4,350
—SE 290,000 2 53 2,900
Otlsel 188 269,500,000& *0. 8% 2,156
Oog== ¢ 2 M= 7,500
—pE 7,500
Aol= 1,500,000 *3H 4,500
A 1,000,000 3% 3,000
OMSINER STH 7Y 2 XY
3,000,000 *2H 6,000
O3¢ 29 & JaHE| 14,000
—2dE 8,000,000& *13] 8,000
—SEH 6,000,000& *13l 6,000
O=2t| 88,000
—Sdd 58,000,000 58,000
—gEH 30,000,000& 30,000
Og=3 22 Y82 9,600
fuds 640,000& =123 7,680
—MSE = 160,000& +12& 1,920
OXz 3= 80,0003 *12& 960
OZHI0IX FX2= 8,000,000& 8,000
OZEHZCIAIAE ALE S
300,000& 123 3,600
ORId==< 7,000
—dEAA 50,0002 x2H+6Al 2+ 102 6,000
—2gRs 23
100,000& *5F +23| 1,000
Oz 29| 1,200,000&*12&+0.8 11,520
O33ea S 2altl
11,500,000 x 12 138,000
OAIR= HRFXD|=204H]
120,000& x9F 128 *0.5 6,480
OAMREHR SAH|
9,000 x 9«62+ 12&+0.8 4,666
OAMEZ A28+ 17,312
—6=(E &)
12,8442« 15A| 2t 15+ 12& 2,312
—8=(E&)
10,4163 *15A1 2H8F 123 15,000
OAIR= el24H| 534,648
=Jl2a 343,640
-6 (EE) 3,819,000& x1F+12& 45,828
-8 (E¥) 3,102,200 x8F + 122 297,812
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M Zstollsnt
M 2tArgel D&t
oHels AIRIOI 2SS F= AlRNIST 29
S - HE - BRI(E) - ARMY - BES ofl &t A
—HESIHI 28,636, 6002 «60%+*22] 34,364
—Ols=¢ 32,160
EES 440,000 x1E 128 5,280
g2 (¢4=2) 310,000& x2& 128 7,440
(2, J18E8E,2D])
270,000 «6H 122 19,440
— ALY 13,080
EES 130,000& x 12+ 123 1,560
g 120,000& x8H 122 11,520
—gd2=+ 26,155
-62(2%) 3,819, 0002 x1H 50%+22] 3,819
8=(8¥) 3,102, 2002 «8H +45%+22] 22,336
—dI2F=8Rrts 8,880
25404 130,000& x3H 122 4,680
1580[4 20018t
80,0003 1 =128 960
- 108014 15&0)1et
60,0003 2 * 128 1,440
- 55014 10&0(Et
50,0002 +3&~ 12 1,800
— U3 A 140,0002x0% * 128 15,120
—JiE4g 50,0002 x02 * 12 5,400
-3¢+ 50,0009 »503] 22,500
—SSE4HI(EE)
200,000& x1H 128 2,400
— =3 2,579,040« 1F 122 30,949
OAIR= 28& 23,344
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—LoIEIRAEE
18,954,000 +12.95% 2,455
—=8le= 30,949,000 4. 5% 1,393
—1I=E2E 30,949,000 *1.75% 542
OFdE 21Ad| 5,432,366
—JlEs 3,791,733
INESPN; 22,000,000& 123 264,000
- 62 (M2, Mi=A)
4,042,103 13 = 128 630,568
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—HEZIHI 301,311,600 »60%+23] 361,574
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K22t & 440,000 x1E~ 128 5,280
IR 400,000& * 128128 57,600
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S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
Hi2==4 350,000 x 12«12 50,400
=l 240,0002 60 122 172,800
— Y 34,680
Kot & 130,000& x 12 =123 1,560
H1==4 120,000 x12E «12& 17,280
Mi2==4 110,000 « 12+ 123 15,840
—32+ 293,979
6= (M2 &, Mi=A)
4,042, 1002 * 13 x50x23] 52,548
- 72 (M2=s=4)
3,660, 2002 122 50925 43,923
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3,291,800 60 *50%*22] 197,508
—d2=grt= 9,720
2580/ & 130,000 x33E « 12& 51,480
- 20104 250 Bt
110,000 « 12+ 123 15,840
- 15014 204012
80,0002 x 13+ 122 12,480
- 108014 15:0/8t
60,0002 x21E12& 15,120
£ 5014 1040/t
50,0002 x8& * 12 4,800
—ZHIAHI 140,000 <85 122 142,800
—ItEE 60,0002 x85&F « 128 61,200
—3¢=g 50,0003 x86EH *302] 129,000
—epl2elg 200,000 «85H « 122 204,000
—2S24Hl 27,600
WNEPN, 2,000,000« 1H =122 24,000
Ea 200,000 x1H~ 128 2,400
252 100,000 x1& =123 1,200
ORdE 28= 224,537
—AIEEE 5,432,366,000& *3.545% 192,578
—LIFIIQAEH
192,578,000 *12.95% 24,939
—=0le= 156,000,000 4. 5% 7,020
OAIEEEE 12| 2,832,857
—Jlzs 2,044,839
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8 (&)
3,458,400 x48H « 122 1,992,039
—SEFHI 166,003, 2003 x60%*23] 199,204
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A EHE 400,000 x5~ 128 24,000
X EHA 350,000 x5« 12& 21,000

_5_




A 230=Dt
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—mm 14,280
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SRS, 130,000& x1H + 122 1,560
&R 120,000& x4 H x 122 5,760
PN 110,000& x4 H 12 5,280
&2 3,458,400 *48% +50%*23| 166,004
ER =at= ) S a= 62,280
2540| & 130,0002 x30H 123 46,800
- 208014 254 0] ¢t
110,000 x5 » 123 6,600
- 15E0(4aF 2040/ 8¢
80,000 x 1+ 12& 960
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60,0003 x6H 123 4,320
- 5E0l4F 1002k
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306 == 7,631,769 7,683,391 A51,622
01 &3 7,631,769 7,683,391 Ab1,622
ORFZIIMH &A=
7,631,769,000& 7,631,769
Ol=ctxl & 230z &= K 2,484,309 2,477,888 6,421
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SN 2SS
I BstAe 1&st
=R N Esus 28 (St &)
2 - IE!
S - BB S9I(3) - HIRAY - BaS ol &t e HIDSZ
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01 AtR2t2|HI 19,920 27,900 AT7,980
Ou=tR3atE gl 3l9+¢
100, 0002 *8% 23] 1,600
O3z HH+d
100,000 x 16 #32] 4,800
OdAIZ & 225 24|
2,186,000& 2,186
ORBAIZSHH SR STHRR
400,000 ~1H 400
Oas0=0tg F3Y|
224,500 122 2,6%4
O&AlZ, Olsd R3]
300,000& 12 3,600
O& AR ED|tM 2|
100,000& * 122 1,200
OZZ2ZEE MRS HMLE
100,000 «10*23] 2,000
O=30=&A XtE X=24l
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203 g4l 14,084 14,084
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o5 St=8A =M 582 S X
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04 QIZHHAMAIRH 2 X 18,500 37,500 19,000
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307 lztol & 7,000 8,000 21,000
= 2,100
Al 4,900
02 2IZHBYAIHE X 7,000 8,000 1,000
OUS3 JIET Blsts BES3 U AR
=S4 WE 7,000,000& 7,000
=S 2,100
Al 4,900
Iz =M ot X3 10,000 10,000 0
< 3,000
Al 7,000
307 elztol & 10,000 10,000 0
= 3,000
Al 7,000
02 2IZHBHAIAE & 10,000 10,000 0
OZJIE AUEM=M ILXE
10,000,000 10,000
= 3,000
Al 7,000
SHAAEE 25,000 31,500 26,500
201 =3 25,000 31,500 26,500
01 At22t2lt] 25,000 31,500 26,500
ORTAIAL HE g =8 & &8 25,000
— =g 15,000,000& 15,000
—st=l3 10,000,000 10,000
et & 2U2etm4 2& S| 4,000 3,500 500
401 AlZHIZ SO 4,000 3,500 500
01 A28l 4,000 3,500 500
O2st=dt & 2UIet=L 2& |
4,000,000 4,000
SR gdat 16,640 16,640 0
SWEAt A5 85 16,640 16,640 0
SRy 28 2 NH 2,240 2,240 0
203 HR=4AY] 2,240 2,240 0
03 A=A PR FA| 2,240 2,240 0
OsFdd gF=d 2,240,000& 2,240
SuH 23t =238 X 14,400 14,400 0
307 212+01& 14,400 14,400
04 QIZHHAIAIH E X 14,400 14,400
OR&AILY M ol HSEM X2
7,200,000 7,200
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M 2s0l=1
M Zosx B3
Chel: SWEHA A5 84 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXE TN & SEECIAY X2
7,200,000& 7,200
ZSAE 298 9,076,618 10,376,555 1,299,937
SEEstAE 29 9,076,618 10,376,555 1,299,937
s 20" =23 654,513 736,905 A\82,392
308 XtXIEMSO0IE 654,513 736,905 A\82,392
13 SO [2S0tHet 4 A AS A 654,513 736,905 A\B2,392
OZUN=0tE 28 345 AS A
654,513,000 654,513
2o HdAIRANE2 29 120,644 134,153 A 13,509
308 AHXIEMSOIE 120,644 134,153 13,509
183 S| 2SS AEAIE 120,644 134,153 213,509
O==2& dARENE2 2
120,644,000 120,644
FEHOIEHHBN 2 1,170,000 1,301,500 131,500
308 AXIHMSO0IA 1,170,000 1,301,500 131,500
13 SI[2S0He 4 A AS A 1,170,000 1,301,500 A131,500
ORTOIEEFHBI A2
1, 170,000,000 1,170,000
SAME2HIE 29 1,719,009 1,750,329 A31,320
201 er=23| 11,000 11,000 0
02 S3=4gHl 11,000 11,000 0
O=ABSSHIE DERLRLD
11,000,000 11,000
308 AtXIEHMSOIE 1,657,677 1,739,329 A\81,652
13 SI[2S0He & EAS A 1,657,677 1,739,329 A\81,652
OSA=ZE23HEH 28 FJaE ASAISH]
1,657,677,000& 1,657,677
401 Al HIZL 048I 50,332 50,332
01 Al&HI 50,332 50,332
O=SAI=2eIE o84 HId4E ZXISA
50,332,000& 50,332
SHOIEME 2 5,365,682 6,453,668 /1,087,986
306 EX= 5,365,682 6,453,668 1,087,986
01 £g= 5,365,682 6,453,668 /1,087,986
OFHOIEHENY 2=
5,365,682,000& 5,365,682
SEHAIQS2 HH 22 (ZSS SO0 46,770 0 46,770
401 Al HIZL 201 46,770 46,770
01 Al&H| 46,770 46,770
OR&Ales2 HH cl2d2(ZSs 00
&) 46,770,000& 46,770
Zstolz elZet = 2,332,041 2,546,566 N214,525
< 14,400
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SH: 285D
g 2sttls lEet 2=
telr 23l Zet 95 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OHES =8 ZANE 332=
9,100,000& *12& 109,200
WFEF TH(230l=) 66,024 94,320 N28,296
w=Z4l X 66,024 94,320 N28,296
stuus XA 66,024 94,320 N28,296
308 XtXIEMSO0IE 66,024 94,320 N28,296
08 wW=J|20Het 2 66,024 94,320 N28,296
Ostng 435 T2 H(ZIIFMSALDS
stw S 30H) 66,024,000 66,024
dY2IFHI(2at0=) 94,112 125,552 A31,440
JlI=23sl 94,112 125,552 A31,440
JI23Hl 94,112 125,552 A31,440
201 2= 70,112 76,688 AB6,576
01 At22t2lt] 25,512 34,608 29,096
ORA2gII1=23H| 24,192
—2Bt=ZH| 40,0002 x28EF 12 +0.8 10,752
—248l 50,0002 x282 »12&+0.8 13,440
OAFRAl 01| AlAY 29 242
110,000~ 128 1,320
2 S52g4l 44,600 42,080 2,520
OdIEENIT F2X2 g2 2]
3,000,000& «12& 36,000
OdEENT F2XL Ea )| 2|
Hl 600, 0002 600
OMEYNA T2XQ L2 DESLTL
600,000& 600
Oxre=Al2ell 6.200
— NS XA 200,000 *2CH 400
—28= 1,000,000 *2CH 2,000
—==dl 2 +cldl 1,900,000 2CH 3,800
OoRER3 100,000& «12& 1,200
202 04l 20,160 42,624 N22,464
01 SLHoIH 20,160 42,624 22,464
OYREZI|=0it|
120,000 x282*122+0.5 20,160
203 HR=4AY] 3,840 6,240 2,400
MU A2 LIFLI 3,840 6,240 A2,400
ORANEgg =AY
400,000 *12&+0.8 3,840
Hees (230 7,130,190 916,837 6,213,353
Al 1,130,190
H 6,000,000
2ENE 7,130,190 0 7,130,190
Al 1,130,190
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M 2s0l=1
¥ Hegs(2so=)
=9 =84S (EH9): ®2)
L=
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
H 6,000,000
A= Olktatet 1,130,190 1,130,190
311 XS0l Aratat 1,130,190 1,130,190
01 Al - 2 - RXSHE IS SOl AHa 8t 829,500 829,500
o221 2stoilssl2 A8 XYM M= 0l
Aratgt 30,000,000,000& *1.5% 450,000
o202 =Z3ttil==l2 A8 XL M= 0l
Kratat 25,300,000,0002 *1.5% 379,500
03 SIS0kttt 300,690 300,690
020204 2stoil=al2 28 XM = 0
Ahatat 6,600,000,000& *1.365% 90,090
OI2stti=al2t 28 XX Xt GE ol
A+ atet 6.,000,000,000& *3.510% 210,600
s A=y 6,000,000 6,000,000
H 6,000,000
601 Mt s =4atEt 6,000,000 6,000,000
H 6,000,000
O1TAl- T - FASHI IS LS B =42t 6,000,000 6,000,000
o201 Sstoil=al2 28 XL s 2
= o 6,000,000,000& 6,000,000
H 6,000,000
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